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	In the business world, companies must meet a certain quota to make money and keep their business open. If they make a surplus amount of money, that is a sign that they have a good business and their sales are going well. However, if they do not meet their target, they will lose money and they may end up losing their business. An inequality can help show them how much money they need to make in order to run their business. It represents a target for them to meet or a goal they have to reach.
	When a business makes the target amount of money, they neither gain profit nor lose profit. Everything stays stable. For example, you may have the inequality $100<x<$500 where x is the target amount. If you make anywhere between $100 and $500, you are in the target amount and this means you have met your goal. While this allows the business to stay afloat, it does not give them the chance to improve their workspace or give out any raises. Just making the target amount might even be bad for some business because if the number drops, they would not be making enough profit. Most businesses would prefer to make a surplus, which is better for them than just making ends meet. That way, if the number drops, it would only put them in the target zone as opposed to being under.
	Businesses strive to make a surplus of money. Using the same inequality from before, $100<x<$500, let us say that a business did really well and made $1000. This is way over target and that is a good thing. With a surplus of money, improvements can be made to the workplace and raises can be given out. The surplus allows the business to improve and grow itself into a more efficient business. It can also be beneficial in case they do not make the target amount one time. The surplus would act as a cushion for them to fall back on so that they are able to pay off any expenses they have without hurting the business. Unfortunately, not all businesses are able to make a surplus or even the target amount. Sometimes, they go below their target amount.
	When a business does not make enough money, they are not able to function properly as a business. Using the same inequality, $100<x<$500, maybe a business was only able to make $50. This is below target and nowhere near a surplus. Not only can the business not improve, it might not be able to continue as a business. The expenses might be too much, and they will either file for bankruptcy or have to shut down completely. However, not meeting the target one time will not mean the end for a business. There is a chance that they will be able to recover, find out what they did wrong, fix it, and make their target amount or even a surplus next time. 
	An inequality can represent the target amount that a business has to make in order to function properly as a business. If it makes the target amount, the business can stay open, but it will not be able to improve or give out raises. Then, if the business makes a surplus, it will be able to improve and become a more efficient business. This also means that if it does not meet the target next time, then it has a cushion to fall back on. Lastly, it is possible for a business to make enough money. When this happens, the business is not able to improve, and it may even shut down. All in all, making the target amount of money or even a surplus will lead to a successful business.
